

2. Use the definition of the derivative to find the derivatives for each of the following functions:

(a)
$$f(x) = x^{2}$$

 $f'(x) = \lim_{h \to 0} \frac{(x+h)^{2} - x^{2}}{h} = \lim_{h \to 0} \frac{x^{2} + 2xh + h^{2} - x^{2}}{h} = \lim_{h \to 0} \frac{2xh + h}{h}$
 $= \lim_{h \to 0} \frac{h(2x+h)}{h} = \lim_{h \to 0} 2x+h = \begin{bmatrix} 2x \\ f(x) = x^{2}, f(x) = 2x \end{bmatrix}$
(b) $f(x) = x^{3}$
 $f'(x) = \lim_{h \to 0} \frac{(x+h)^{3} - x^{3}}{h} = \lim_{h \to 0} \frac{x^{2} + 3x^{2} + 3x^{2$

4. Use the data above to fill in the rules below. Assume *c* and *n* are fixed numbers.

$$\frac{d}{dx}[c] = \underbrace{\mathcal{O}}_{dx}[x^n] = \underbrace{\mathbf{n} \times}_{dx}[x^n] = \underbrace{\mathbf{n} \times}_{dx}[x^n + c] = \underbrace{\mathbf{n} \times}_{dx}[cx^n] = \underbrace{\mathbf{c} \cdot \mathbf{n} \times}_{d$$

3-3 Derivative Rules

. .

ዲ

.

5. Use the graphs of $f(x) = \sin(x)$ and $g(x) = \cos(x)$ (below) to sketch the graph of their derivatives f'(x) and g'(x).



7. Four Big Rules

(a) Constant Multiple

$$\frac{d}{dx} \begin{bmatrix} c f(x) \end{bmatrix} = c \frac{d}{dx} \begin{bmatrix} f(x) \end{bmatrix} \\
\frac{d}{dx} \begin{bmatrix} c f(x) \end{bmatrix} = c \frac{d}{dx} \begin{bmatrix} f(x) \end{bmatrix} \\
\frac{d}{dx} \begin{bmatrix} f(x) + g(x) \end{bmatrix} = \frac{d}{dx} \begin{bmatrix} f(x) \end{bmatrix} + \frac{d}{dx} \begin{bmatrix} g(x) \end{bmatrix} \\
\frac{d}{dx} \begin{bmatrix} f(x) + g(x) \end{bmatrix} = \frac{d}{dx} \begin{bmatrix} f(x) \end{bmatrix} + \frac{d}{dx} \begin{bmatrix} g(x) \end{bmatrix} \\
\frac{d}{dx} \begin{bmatrix} f(x) + g(x) \end{bmatrix} = \frac{d}{dx} \begin{bmatrix} f(x) \end{bmatrix} + \frac{d}{dx} \begin{bmatrix} g(x) \end{bmatrix} \\
\frac{d}{dx} \begin{bmatrix} f(x) + g(x) \end{bmatrix} = \frac{d}{dx} \begin{bmatrix} f(x) \end{bmatrix} + \frac{d}{dx} \begin{bmatrix} g(x) \end{bmatrix} \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) \end{bmatrix} = \frac{d}{dx} \begin{bmatrix} f(x) \end{bmatrix} + \frac{d}{dx} \begin{bmatrix} g(x) \end{bmatrix} \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) \end{bmatrix} = \frac{d}{dx} \begin{bmatrix} f(x) - g(x) + f(x) + \frac{d}{dx} \begin{bmatrix} g(x) \end{bmatrix} \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) \end{bmatrix} = \frac{d}{dx} \begin{bmatrix} f(x) - g(x) + x^2 + \cos x \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) \end{bmatrix} = \frac{d}{dx} \begin{bmatrix} f(x) - g(x) + x^2 + \cos x \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) \end{bmatrix} = \frac{d}{dx} \begin{bmatrix} f(x) - g(x) - f(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) \end{bmatrix} = \frac{d}{dx} \begin{bmatrix} f(x) - g(x) - f(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) \end{bmatrix} = \frac{d}{dx} \begin{bmatrix} f(x) - g(x) - f(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) \end{bmatrix} = \frac{d}{dx} \begin{bmatrix} f(x) - g(x) - f(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) - g(x) - f(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) - g(x) - f(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) - g(x) - f(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) - g(x) - f(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) - g(x) - f(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) - g(x) - f(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) - g(x) - f(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) - g(x) - f(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} f(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x) - g(x) - g(x) - g(x) \\
\frac{d}{dx} \begin{bmatrix} g(x) - g(x)$$